SUPERWINCH TERRA

SERIES

TERRA SERIES*

SERVICE PARTS

CONTENTS

DESCRIPTION

TERRA
2500

Part # 1125260

TERRA

235005R
Part # 1125270

TERRA
3500

Part # 1135260

TERRA

J500SR
Part # 1135270

PART NUMBER

TERRA
4500

Part # 1145260

TERRA

4500SR
Part # 1145270

1,2.3, 4,

56,78,

9,10, 11,

12,13, 14, Motor Assembly 90-42672 90-42672 90-42675 | 90-42675 | 90-42678 90-42678

15, 16, 17,

18, 19, 40

1,8, 13,

20, 32, 34,

35. 38,40, | Small Parts Kit 90-42693 90-42693 90-42693 | 90-42693 | 90-42693 | 90-42693

42, 43, 44,

45
Circuit Breaker

N/A (Not Shown) 87-14541 87-14541 87-14541 87-14541 87-14541 87-14541
Contactor

N/A (Not Shown) 90-42681 90-42681 90-42681 90-42681 90-42681 90-42681
Handlebar Switch

N/A (Not Shown) 90-42687 90-42687 90-42687 | 90-42687 | 90-42687 | 90-42687

N/A Fairlead, Hawse N/A 87-42619 N/A 87-42619 N/A 87-42620
(Not Shown)

N/A Fairlead, Roller 87-41340-01 N/A 87-41340-01 N/A 87-41340 N/A
(Not Shown)

N/A Power Cable Kit 90-42684 90-42684 90-42684 | 90-42684 90-42684 90-42684
(Not Shown)

o Remote Control 2275 2275 2275 2275 2275 2275
(Not Shown)

N/A Rope, Synthetic N/A 87-42613 N/A 87-42613 N/A 87-42614
(Not Shown)
Rope, Steel

N/A Cable Wire 87-42611 N/A 87-42611 N/A 87-42612 N/A
(Not Shown)

N/A Socket Assembly | 90.42690 90-42690 | 90-42690 | 90-42690 | 90-42690 | 90-42690
(Not Shown)

*Service parts shown apply to the new generation Terra Winches only. DOES NOT apply to old Terra part numbers
(1125220, 1125230, 1135220, 1135230, 1145220, and 1145230).

060324 | RevB


https://www.superwinch.com/en/products/superwinch/12v-replacement-winch-motor-90-42672
https://www.superwinch.com/en/products/superwinch/12v-replacement-winch-motor-90-42672
https://www.superwinch.com/en/products/superwinch/12v-replacement-winch-motor-90-42675
https://www.superwinch.com/en/products/superwinch/12v-replacement-winch-motor-90-42675
https://www.superwinch.com/en/products/superwinch/12v-replacement-winch-motor-90-42678
https://www.superwinch.com/en/products/superwinch/12v-replacement-winch-motor-90-42678
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42693
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42693
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42693
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42693
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42693
https://www.superwinch.com/en/products/superwinch/small-parts-kit-90-42693
https://www.superwinch.com/en/products/superwinch/replacement-circuit-breaker-87-14541
https://www.superwinch.com/en/products/superwinch/replacement-circuit-breaker-87-14541
https://www.superwinch.com/en/products/superwinch/replacement-circuit-breaker-87-14541
https://www.superwinch.com/en/products/superwinch/replacement-circuit-breaker-87-14541
https://www.superwinch.com/en/products/superwinch/replacement-circuit-breaker-87-14541
https://www.superwinch.com/en/products/superwinch/replacement-circuit-breaker-87-14541
https://www.superwinch.com/en/products/superwinch/replacment-winch-contactor-90-42681
https://www.superwinch.com/en/products/superwinch/replacment-winch-contactor-90-42681
https://www.superwinch.com/en/products/superwinch/replacment-winch-contactor-90-42681
https://www.superwinch.com/en/products/superwinch/replacment-winch-contactor-90-42681
https://www.superwinch.com/en/products/superwinch/replacment-winch-contactor-90-42681
https://www.superwinch.com/en/products/superwinch/replacment-winch-contactor-90-42681
https://www.superwinch.com/en/products/superwinch/handlebar-switch-90-42687
https://www.superwinch.com/en/products/superwinch/handlebar-switch-90-42687
https://www.superwinch.com/en/products/superwinch/handlebar-switch-90-42687
https://www.superwinch.com/en/products/superwinch/handlebar-switch-90-42687
https://www.superwinch.com/en/products/superwinch/handlebar-switch-90-42687
https://www.superwinch.com/en/products/superwinch/handlebar-switch-90-42687
https://www.superwinch.com/en/products/superwinch/hawse-fairlead-terra-25-35-winch-87-42619
https://www.superwinch.com/en/products/superwinch/hawse-fairlead-terra-25-35-winch-87-42619
https://www.superwinch.com/en/products/superwinch/hawse-fairlead-terra-45sr-winch-87-42620
https://www.superwinch.com/en/products/superwinch/roller-fairlead-terra-25-35-winch-87-41340-01
https://www.superwinch.com/en/products/superwinch/roller-fairlead-terra-25-35-winch-87-41340-01
https://www.superwinch.com/en/products/superwinch/roller-fairlead-terra-45-winch-87-41340
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42684
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42684
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42684
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42684
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42684
https://www.superwinch.com/en/products/superwinch/power-cable-kit-90-42684
https://www.superwinch.com/en/products/superwinch/remote-control-terra-25-35-45-tiger-shark-13500-15500-17500-sh1000-winch-2275
https://www.superwinch.com/en/products/superwinch/remote-control-terra-25-35-45-tiger-shark-13500-15500-17500-sh1000-winch-2275
https://www.superwinch.com/en/products/superwinch/remote-control-terra-25-35-45-tiger-shark-13500-15500-17500-sh1000-winch-2275
https://www.superwinch.com/en/products/superwinch/remote-control-terra-25-35-45-tiger-shark-13500-15500-17500-sh1000-winch-2275
https://www.superwinch.com/en/products/superwinch/remote-control-terra-25-35-45-tiger-shark-13500-15500-17500-sh1000-winch-2275
https://www.superwinch.com/en/products/superwinch/remote-control-terra-25-35-45-tiger-shark-13500-15500-17500-sh1000-winch-2275
https://www.superwinch.com/en/products/superwinch/synthetic-winch-rope-terra-25sr-35sr-lt4000sr-winch2gosr-winch-87-42613
https://www.superwinch.com/en/products/superwinch/synthetic-winch-rope-terra-25sr-35sr-lt4000sr-winch2gosr-winch-87-42613
https://www.superwinch.com/en/products/superwinch/synthetic-winch-rope-terra-45sr-winch-87-42614
https://www.superwinch.com/en/products/superwinch/wire-winch-rope-terra-25-35-lt2000-lt3000-lt4000-ut3000-winch2go-winch-87-42611
https://www.superwinch.com/en/products/superwinch/wire-winch-rope-terra-25-35-lt2000-lt3000-lt4000-ut3000-winch2go-winch-87-42611
https://www.superwinch.com/en/products/superwinch/wire-winch-rope-terra-45-winch-87-42612
https://www.superwinch.com/en/products/superwinch/replacement-remote-socket-assembly-90-42690
https://www.superwinch.com/en/products/superwinch/replacement-remote-socket-assembly-90-42690
https://www.superwinch.com/en/products/superwinch/replacement-remote-socket-assembly-90-42690
https://www.superwinch.com/en/products/superwinch/replacement-remote-socket-assembly-90-42690
https://www.superwinch.com/en/products/superwinch/replacement-remote-socket-assembly-90-42690
https://www.superwinch.com/en/products/superwinch/replacement-remote-socket-assembly-90-42690

SUPERWINCH TERRA

ITEM NO. PART NUMBER DESCRIPTION QTY.
1 1125260-1-1-20 0-Ring, Motor 2
1125260-1-1-25 (Terra 2500/2500SR/3500/3500SR
2 1145240-1-1-25 ETerra 4500/4500SR) ! Spring, Brake UTV 1
1125260-1-1-27 (Terra 2500/2500SR/3500/3500SR
3 1145240-1-1-27 gTerra 4500/4500SR) ) Adapter, Driveshaft-Brake 1
4 1145240-1-1-9 Motor Contact Housing 1
1125260-1-1-26 (Terra 2500/2500SR/3500/3500SR)
5 1145240-1-1-26 (Terra 4500/4500SR) Adapter, Motor-Brake 1
6 1145240-1-1-17 Nut, Serrated Flange M6 4
7 1125260-11-6 Washer, Flat M6 4
8 1125260-1-1-29 0-Ring, 8mm 0.D. 4
9 1125260-1-1-13 Motor Cap 1
10 1125260-1-1-5 Stator - Permanent Magnet 1
1 1125260-1-1-1 (Terra 2500/2500SR/3500/3500SR) Drum Su t - Motor End UTV 1
1145260-1-1-1 (Terra 4500/4500SR) pport - Wotor En
1125260-1-1-6 (Terra 2500/2500SR) 1135260-1-1-6
12 (Terra 3500/3500SR) 1145260-1-1-6 (Terra 4500/4500SR) Rotor, UTV 1
13 1145240-1-1-7 Ball Bearing, 32mm 0.D. 1
14 1145240-1-1-15 Retainer, Terminal Screw 2
15 1145240-1-1-16 Screw, Square Head M6 2
16 1125260-1-1-14 Insulator, Blue 1
17 1125260-1-1-28 Insulator, Yellow 1
18 1125260-1-1-18 Screw, Cap Head M5-0.8 x 125mm 2
19 1125260-11-5 Washer, Flat M5 2
20 1125260-1-3-3 Gearbox Plate 1
21 1125260-1-3-97 Clutch Mechanism 1
22 1125260-1-3-96 Clutch Handle 1
23 1125260-1-3-5 Ring Gear, 3rd Stage UTV 1
1125260-1-3-6 (Terra 2500/2500SR) 1135260-1-3-6 (Terra
24 3500/35008Rl4(500145003R) ) ( 1st Stage Planetary Assembly 1
1125260-1-3-8 (Terra 2500/2500SR) 1135260-1-3-8 (Terra
25 3500/35008RI4(500145003R) ) ( 2nd Stage Planetary Assembly 1
26 1125260-1-3-4 Screw, Cap Head M5-0.8 x 14mm 2
27 1125260-1-3-9 3rd Stage Planetary Assembly 1
1125260-1-4-1 (Terra 2500/2500SR /3500/3500SR ;
28 1145260-1-4-1 ETerra 4500/4500SR) ) Drive Shaft !
29 1125260-1-4-6 Spring, Clutch 1
30 1125260-1-4-4 Retaining Washer 3
31 1125260-1-4-3 Gear, Drum Hub 1
1125260-1-5 (Terra 2500/2500SR/3500/3500SR :
32 1145260-1-5 gTerra 4500/4500SR) ) Tie Bar 2
1125260-1-8 (Terra 2500/3500) Drum, Narrow Steel (Terra 2500/3500)
33 1125270-1-8 (Terra 2500SR/3500SR) Drum, Narrow Synthetic (Terra 2500SR/3500SR) 1
1145260-1-8 (Terra 4500) Drum, Standard Steel (Terra 4500)
1125270-1-8 (Terra 4500SR) Drum, Standard Synthetic (Terra 4500SR)
34 1145240-1-1-2 Drum Bearing 2
35 1145240-1-1-3 Drum Gasket 2
36 1125260-1-6 Screw, Cap Head M5-0.8 x 20mm 2
37 1125260-1-7 Screw, Cap Head M5-0.8 x 25mm 2
38 1125260-1-3-2 Face Seal, UTV 1
39 1125260-1-3-1 Gearbox/Drum Support 1
40 1125260-1-1-24 Snap Ring, 34mm ID Groove 1
41 1125260-1-9 Set Screw M6 1
42 90-42693-11 0-Ring, Clutch 1
43 1125260-1-3-95 Thrust Bearing, 3rd Stage 1
1125260-1-3-85 (Terra 2500/2500SR) 1135260-1-3-85 (Terra ;
44 3500/35008RI45(00145003R) ! ( Thrust Bearing, 2nd Stage !
1125260-1-3-65 (Terra 2500/2500SR) 1135260-1-3-65 (Terra :
45 3500/35008Rl45(00145003R) ) ( Thrust Bearing, 1st Stage !

060324 | RevB



SUPERWINCH TERRA

SERIES

Terra 2500/2500SR/3500/3500SR/4500/4500SR

060324 | RevB



